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Unit 1 - Day 2: Guided Notes

s. The test consists of True/False questions

Example 1: A test has twenty questions worth 100 point
ow many multiple choice

worth 3 points each and multiple choice questions worth 11 points each. H
questions are on the test? .._-;‘ vy v

m+ ¢ = 20 moltiple (holCE = -

N 4+ 36 = 100 truelfalse = 1S Gueshons

at Panther Creek High School and Enloe HS planned separate trips to New
HS rented and filled 1 van and 6 buses with 372 students. EHS rented and
each bus carried the same number of

Example 2: The senior classes

York City. The senior class at PC
filled 4 vans and 12 buses with 780 students. Each van and

students. How many students were in each vehicle?

%\v 4+ kb = 372 \\wms = 1% stvdents

v 42 = 1%0 bus = 59 stvdents

ng are selling fruit for a school fundraiser. Customers can buy small boxes of

of oranges. Matt sold 3 small boxes of oranges and 14 large boxes of oranges for
and 11 large boxes of oranges for a total of $220. Find

Example 3: Matt and Mi

oranges and large boxes
a total of $203. Ming sold 11 small boxes of oranges
the cost each of one small box of oranges and one large box of oranges.

39 "\'\“\ Q =203 -S_y\qq“ pOX= 37.00
Ns + 1L = 220 larye box= $13.00

We show the solution to a linear inequality with a ___ %Y\ ph
Step 1) Put the inequalities into __S)0p€ — '\h'\fﬂjﬁ {'Dnm

Step 2) Graph the _11N€S LS\, The y-inkereept and  SIope

e Ifthe inequality is < of 7 __,make the lines dotte d &

VX

(4 4
e Ifthe inequalityis _= or Z make the lines __S011 J I/
Step 3) Shadé the correct region of the graph:

o Shade__ QA 1OOVE thelinefor _ Y 2 OF Y 2

e Shade_ DCIOW the line for ‘ﬁL o 9 <
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Examples: Sketch the following inequalities on a graph
1. y>-5x+4 2, x<4 3. y2-3 4. 2x—3y$6 X hip
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Example: Solve the following system of Inequalities:

[3x+4y>—4 . TEMTE P
x+2y<2 8 4 B2 17 I 6 0O P

Put In Slope Intercept Form: T r T AT F L R

3X 4 "l\] > =Y "‘* < 1 B S - |
by >- 3x-4 L e e, o e e

. i1 1 -
- 5 = LBy Iﬁﬁ h 4] 7% 1 B d ka8 | i 5 = ¥
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X+2y 42 BEEARNAGR BN o o B
2y ¢ -X+2 A 1 9973 x-)
0 Y<é -Lx+| f e o

Check your solution:

You Try! '
51.31*3
X+2y2'12 ™ . 5‘

-3x+y< 8
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